

November 29, 2022

Hon. Kevin Neal, Judge Executive Marshall County Fiscal Court 1101 Main Street Benton, KY 42025

RE: Award Recommendation Letter

HUNTER ROAD & WALNUT GROVE CHURCH ROAD WATERMAIN EXTENSIONS Benton, Marshall County, Kentucky

Judge Neal,

On November 23rd, sealed bids were accepted and opened for the above referenced project. Three (3) competitive bids were received with the total bid amounts tabulated as follows:

BIDDER	BID AMOUNT	DIFFERENCE
Murtco Utility Services, LLC	\$324,995.00	
D-Port Directional Drilling & Utilities, LLC	\$421,300.00	\$96,305.00
Youngblood Excavating & Contracting, LLC	\$494,650.00	\$169,655.00

Following receipt of the bids, Rivercrest Engineering (Rivercrest) performed a review of each bid package for completeness and compliance with the contract requirements. Our staff has had the opportunity to work with Murtco Utility Services, LLC (Murtco) on several water and sewer construction projects in recent years. Most recently, we have worked with Murtco through the construction of the 6th Street Sewer Improvements project in Benton, and the Draffenville West Phase 1 Sewer Expansion in Draffenville. On each project, Murtco has provided qualified and experienced staff, and completed the projects in a professional manner.

It has been based upon this information and experience that Rivercrest recommends acceptance of Murtco Utility Services, LLC's bid, and award of this project to the low bidder, at the amount indicated in their bid \$324,995.00. A copy of the unit price bid tabulation has been included with this submittal, along with copies of the low bidder's required bid bond, bid criteria sheets, and bid proposal. If the Fiscal Court wishes to award the contract, as noted, please execute the attached Notice of Award and Owner-Contractor Agreement documents and return to Rivercrest.

If you have any questions, or wish to discuss further, please call me at your convenience.

Sincerely,

Rivercrest Engineering, Inc.

Charles D. McCann II, P.E.

Project Manager

cc: Randal Scott - Mayor of Hardin

Rivercrest Job No. 22002

HUNTER ROAD & WALNUT GROVE CHURCH ROAD WATERMAIN EXTENSIONS FOR CITY OF HARDIN & MARSHALL COUNTY FISCAL COURT

UNIT PRICE BID TABULATION - NOVEMBER 23, 2022

i .	UNIT PRICE BID TABULA		ATION - NOVEMBER 23, 2022		D-PORT DIRECTIONAL DRILLING &		YOUNGBLOOD EXCAVATING &		
				MURTCO UTILITY SERVICES, LLC.		UTILITIES, LLC.		CONTRACTING, LLC	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
	INSTALLATION BY THE CONTRACTOR - MATERIAL PROVIDED BY OWNER								
1	6" SDR-21 PVC WATERMAIN (TRENCH)	LF	2,770	\$14.00	\$38,780.00	\$30.00	\$83,100.00	\$16.50	\$45,705.00
2	6" SDR-21 RJ/PVC WATERMAIN (HDD)	LF	280	\$40.00	\$11,200.00	\$35.00	\$9,800.00	\$30.00	\$8,400.00
3	4" SDR-21 PVC WATERMAIN (TRENCH)	LF	5,650	\$12.50	\$70,625.00	\$20.00	\$113,000.00	\$16.50	\$93,225.00
4	4" SDR-21 RJ/PVC WATERMAIN (HDD)	LF	840	\$38.00	\$31,920.00	\$25.00	\$21,000.00	\$30.00	\$25,200.00
5	4" SDR-21 PVC WATERMAIN (UNENCASED BORE)	LF	130	\$38.00	\$4,940.00	\$25.00	\$3,250.00	\$34.00	\$4,420.00
6	2" DR9 HDPE (TRENCH)	LF	2,470	\$10.00	\$24,700.00	\$12.00	\$29,640.00	\$16.50	\$40,755.00
7	2" DR9 HDPE (HDD)	LF	220	\$22.00	\$4,840.00	\$18.00	\$3,960.00	\$27.00	\$5,940.00
8	3/4" HDPE SERVICE (TRENCH)	LF	390	\$12.00	\$4,680.00	\$12.00	\$4,680.00	\$14.00	\$5,460.00
9	3/4" HDPE SERVICE (BORE)	LF	285	\$18.00	\$5,130.00	\$15.00	\$4,275.00	\$26.00	\$7,410.00
10	5/8" X 3/4" METER SETTING (NEW SETTING - RELOCATE EXISTING METER)	EA	8	\$450.00	\$3,600.00	\$650.00	\$5,200.00	\$400.00	\$3,200.00
11	6"X 6" TAPPING SLEEVE AND VALVE	EA	1	\$1,250.00	\$1,250.00	\$1,300.00	\$1,300.00	\$2,000.00	\$2,000.00
12	6" MJ GATE VALVE	EA	7	\$180.00	\$1,260.00	\$175.00	\$1,225.00	\$400.00	\$2,800.00
13	4" MJ GATE VALVE	EA	15	\$150.00	\$2,250.00	\$175.00	\$2,625.00	\$400.00	\$6,000.00
14	2" MJ GATE VALVE	EA	2	\$90.00	\$180.00	\$150.00	\$300.00	\$400.00	\$800.00
15	FIRE HYDRANT	EA	3	\$850.00	\$2,550.00	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00
16	POST HYDRANT	EA	6	\$450.00	\$2,700.00	\$450.00	\$2,700.00	\$1,000.00	\$6,000.00
17	2" FLUSH HYDRANT	EA	2	\$450.00	\$900.00	\$400.00	\$800.00	\$1,000.00	\$2,000.00
18	6"X13" CONNECTING PIECE	EA	3	\$60.00	\$180.00	\$40.00	\$120.00	\$400.00	\$1,200.00
19	4"X13" CONNECTING PIECE	EA	6	\$60.00	\$360.00	\$35.00	\$210.00	\$400.00	\$2,400.00
20	6"X6" ANCHORING TEE	EA	3	\$120.00	\$360.00	\$60.00	\$180.00	\$500.00	\$1,500.00
21	4"X4" ANCHORING TEE	EA	6	\$90.00	\$540.00	\$45.00	\$270.00	\$500.00	\$3,000.00
22	VALVE BOX	EA	22	\$120.00	\$2,640.00	\$60.00	\$1,320.00	\$300.00	\$6,600.00
23	6" MJ SLEEVE	EA	2	\$60.00	\$120.00	\$40.00	\$80.00	\$400.00	\$800.00
24	6" MJ 45*	EA	3	\$60.00	\$180.00	\$40.00	\$120.00	\$200.00	\$600.00
25	6" MJ 22.5*	EA	3	\$60.00	\$180.00	\$40.00	\$120.00	\$200.00	\$600.00
26	6" MJ 11.25*	EA	1	\$60.00	\$60.00	\$40.00	\$40.00	\$200.00	\$200.00
27	4"X 2" MJ REDUCER	EA	1	\$60.00	\$60.00	\$35.00	\$35.00	\$200.00	\$200.00
28	4" MJ 45"	EA	1	\$60.00	\$60.00	\$35.00	\$35.00	\$200.00	\$200.00
29	4" MJ 11.25"	EA	1	\$60.00	\$60.00	\$35.00	\$35.00	\$200.00	\$200.00
30	4"X4" MJ TEE	EA	3	\$90.00	\$270.00	\$45.00	\$135.00	\$400.00	\$1,200.00
31	4" MJ CAP	EA	1	\$45.00	\$45.00	\$28.00	\$28.00	\$200.00	\$200.00
32	4" MJ SLEEVE	EA	8	\$60.00	\$480.00	\$35.00	\$280.00	\$400.00	\$3,200.00
33	6" THRUST RESTRAINT GLAND	EA	16	\$30.00	\$480.00	\$35.00	\$560.00	\$100.00	\$1,600.00
34	4" THRUST RESTRAINT GLAND	EA	38	\$15.00	\$570.00	\$25.00	\$950.00	\$100.00	\$3,800.00
	6" FOSTER ADAPTER	EA	8	\$60.00	\$480.00	\$30.00	\$240.00	\$200.00	\$1,600.00
36	4" FOSTER ADAPTER 2" MJ SLEEVE	EA	12	\$60.00	\$720.00	\$25.00	\$300.00	\$200.00	\$2,400.00
38	2" THRUST RESTRAINT GLAND	EA EA	5	\$30.00	\$30.00	\$30.00	\$30.00	\$100.00	\$100.00
30	MATERIAL AND INSTALLATION BY THE CONTRACTOR	L EA	3	\$15.00	\$75.00	\$25.00	\$125.00	\$50.00	\$250.00
39	ABANDON EXISTING METER SETTING	EA	p	\$250.00	\$2,000,00	¢150.00	¢1 200 00	tene ee	£4 800 00
40	RECONNECT EXISTING SERVICE	EA	8	\$250.00 \$285.00	\$2,000.00	\$150.00	\$1,200.00	\$600.00	\$4,800.00
41	REMOVE EXISTING FLUSH HYDRANT				\$2,280.00	\$190.00	\$1,520.00	\$700.00	\$5,600.00
42	4" WATER METER & VAULT	L.SUM	1	\$250.00	\$500.00	\$200.00	\$400.00	\$650.00	\$1,300.00
43	COMPACTED SELECT FILL	TONS	270		\$28,060.00	\$22,500.00	\$22,500.00	\$31,000.00	\$31,000.00
44	KY CLASS "B" CONCRETE THRUST BLOCKING (2500 PSI)	CY	13	\$25.00 \$250.00	\$6,750.00 \$3,250.00	\$28.00 \$200.00	\$7,560.00	\$40.00	\$10,800.00
45	ASPHALT PAVING (3.5" THICK)	TONS	6	\$350.00	\$3,250.00	\$200.00	\$2,600.00	\$300.00	\$3,900.00
46	LANDSCAPING & SEEDING / RESTORATION	SY	33,500	\$1.60	\$2,100.00	\$215.00	\$1,290.00 \$75,375.00	\$210.00 \$3.75	\$1,260.00
47	MOBILIZATION	L.SUM	1	\$500.00	\$500.00	\$2,800.00	\$2,800.00	\$6,500.00	\$125,625.00
									\$6,500.00
48	BONDS/INSURANCE	L.SUM	1	\$6,500.00	\$6,500.00	\$12,487.00	\$12,487.00	\$9,700.00	\$9,700.00

DENOTES ERROR IN CONTRACTOR'S BID SUBMITTAL

I hereby certify that the foregoing figures are as submitted on the 23rd day of November, 2022.



SECTION 00310

UNIT PRICE BID FORM

BID PROPOSAL

HUNTER ROAD & WALNUT GROVE CHURCH ROAD WATERMAIN **EXTENSIONS**

Installation Contract

Proposal of Murto *, (hereinafter called BIDDER), organized and
Proposal of*, (hereinafter called BIDDER), organized and existing under the laws of the Commonwealth of Kentucky to the Marshall County Fiscal Court (hereinafter called OWNER).
In compliance with your Invitation For Bid, Bidder hereby proposes to perform all work for the HUNTER ROAD & WALNUT GROVE CHURCH ROAD WATERMAIN EXTENSIONS project in strict accordance with the CONTRACT DOCUMENTS, within the time set forth therein, and at the prices stated below.
By submission of this BID, each BIDDER certifies and in the case of a joint BID, each party thereto certifies as to its own organization, that this BID has been arrived at independently, without consultation, communication or agreement as to any matter relating to this BID with any other BIDDER or with any other competitor.
BIDDER hereby agrees to commence WORK under this contract on or before a date to be specified in the NOTICE TO PROCEED and to fully complete the project within 140 consecutive calendar days thereafter. BIDDER further agrees to pay as liquidated damages the sum of \$800.00 for each consecutive calendar day thereafter until project completion as provided in Article 2 of the Agreement.
In submitting this BID, it is understood that the right is reserved by the OWNER to reject any and all BIDS. If notice of the acceptance of this bid is given to the BIDDER within ninety (90) days after the time of receipt of bids, the BIDDER agrees to execute and deliver a contract in the prescribed form and furnish the required bonds within ten (10) days after the contract is presented to him for signature.
Security in the sum of 5% DOLLARS
(\$) in the form of a Bid Bond is submitted herewith in accordance with the specifications.
BIDDER acknowledges receipt of the following ADDENDUM: # /
*Insert "A Corporation", "A Partnership" or "An Individual", as applicable.

NOTE: BIDS shall include sales tax and all other applicable taxes and fees.

HUNTER ROAD & WALNUT GROVE CHURCH ROAD WATERMAIN EXTENSIONS FOR CITY OF HARDIN & MARSHALL COUNTY FISCAL COURT UNIT PRICE BID FORM

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL
	INSTALLATION BY THE CONTRACTOR - MATERIAL PROVIDED BY OWNER				
1	6" SDR-21 PVC WATERMAIN (TRENCH)	LF	2,770	\$ 14.00	J\$38,780.00
2	6" SDR-21 RJ/PVC WATERMAIN (HDD)	LF	280	\$ 40.00	\$ 11,200.00
3	4" SDR-21 PVC WATERMAIN (TRENCH)	LF	5,650	\$ 12.50	\$ 70,625.00
4	4" SDR-21 RJ/PVC WATERMAIN (HDD)	LF	840	# 38.00	\$31,920.00
5	4" SDR-21 PVC WATERMAIN (UNENCASED BORE)	LF	130	\$38.00	\$ 4,940.00
6	2" DR9 HDPE (TRENCH)	LF	2,470	\$ 10.00	\$24,700.00
7	2" DR9 HDPE (HDD)	LF	220	\$ 22.00	\$4,840.00
8	3/4" HDPE SERVICE (TRENCH)	LF	390	\$12.00	\$4,680.00
9	3/4" HDPE SERVICE (BORE)	LF	285	\$ 18.00	\$ 5,130.00
10	5/8" X 3/4" METER SETTING (NEW SETTING - RELOCATE EXISTING METER)	EA	8	\$ 450.0°	\$ 3,600.00
11	6"X 6" TAPPING SLEEVE AND VALVE	EA	1	\$1,250.00	\$1,250.00
12	6" MJ GATE VALVE	EA	7	\$180.00	\$1,260.00
13	4" MJ GATE VALVE	EA	15	\$150.00	\$2,250.00
14	2" MJ GATE VALVE	EA	2	\$ 90.00	\$ 180.00
15	FIRE HYDRANT	EA	3	\$ 850.00	\$2,550.00
16	POST HYDRANT	EA	6	\$ 450.00	\$2,700.00
17	2" FLUSH HYDRANT	EA	2	\$450.00	\$ 900.00
18	6"X13" CONNECTING PIECE	EA	3	\$ 60.00	\$ 180.00
19	4"X13" CONNECTING PIECE	EA	6	\$ 60.00	\$ 360.00
20	6"X6" ANCHORING TEE	EA	3	\$ 120.00	\$ 360.00
21	4"X4" ANCHORING TEE	EA	6	\$ 90.00	\$ 540.00
22	VALVE BOX	EA .	22	\$120.00	\$2,640.00
23	6" MJ SLEEVE	EA	2	\$ 60.00	\$ 120.00
24	6" МJ 45°	EA	3	\$60.00	\$ 180.00
25	6" MJ 22.5°	EA	3	\$ 60.00	\$ 180.00
26	6" MJ 11.25°	EA	1	\$ 60.00	\$ 60.00
27	4"X 2" MJ REDUCER	EA	1	\$ 60.00	\$ 60,00
	4" MJ 45°	EA	1	\$60.00	\$60.00
29	4" MJ 11.25°	EA	1	\$60.00	\$60.00
	4"X4" MJ TEE	EA	3	\$ 90.00	\$ 270.00
	4" MJ CAP	EA	1	₩ 45.00	\$ 45.00
	4" MJ SLEEVE	EA	8	\$ 60.00	\$ 480.00
	6" THRUST RESTRAINT GLAND	EA	16	\$ 30.00	\$ 480.00

34	4" THRUST RESTRAINT GLAND	EA	38	\$15.00	\$570.00
35	6" FOSTER ADAPTER	EA	8	\$ 60.00	\$ 480.00
36	4" FOSTER ADAPTER	EA	12	\$60.00	\$ 720.00
37	2" MJ SLEEVE	EA	1	#30.°°	\$ 30.00
38	2" THRUST RESTRAINT GLAND	EA	5	\$ 15.00	\$75.00
	MATERIAL AND INSTALLATION BY THE CONTRACTOR			V.01	
39	ABANDON EXISTING METER SETTING	EA	8	\$ 250.00	\$2,000.00
40	RECONNECT EXISTING SERVICE	EA	8	\$ 285.00	\$2,280.00
41	REMOVE EXISTING FLUSH HYDRANT	EA	2	\$ 250.00	\$ 500.00
42	4" WATER METER & VAULT	L.SUM	1	\$28,060.00	
43	COMPACTED SELECT FILL	TONS	270	\$ 25.00	\$6,750.
44	KY CLASS "B" CONCRETE THRUST BLOCKING (2500 PSI)	СУ	13	\$ 250.00	#3,250.
45	ASPHALT PAVING (3.5" THICK)	TONS	6	\$350.00	\$2,100.00
45	LANDSCAPING & SEEDING / RESTORATION	SY	33,500	\$1.60	\$53,600.00
47	MOBILIZATION	L.SUM	1	\$ 500.00	\$500.00
48	BONDS/INSURANCE	L.SUM	1	\$6,500.00	\$ 6,500.00
				TOTAL BID =	\$324 995

- This is a unit price contract. The final contract price will be based on the unit price and number of units installed. The Owner reserves the right to increase or decrease quantities as dictated by Project Conditions.
- 2. In the case of a discrepancy between unit prices and computed totals, unit prices should prevail.

KNOWLEDGE OF LOCAL CONDITIONS AND CONTRACT DOCUMENTS: The undersigned has examined the location of the proposed work, the Drawings, Specifications and other Contract Documents, and is familiar with the local conditions at the place where the work is to be performed.

BIDDER MURTCO U-	auty Spevices	8
BY SILLIE	DATE 11/23/2022	
TITLE OWNER		
ADDRESS / EMAIL / PHONE:	2900 IRVIN COBB DR.	PADUCAU, KY 42003
KMURTS	TE DMURTCO, COM 2	70-444-0679

SECTION 00350

BID CRITERIA SHEET

All bidders shall fill out and submit this form with their bid: Safety Plan (attach to bid) A. List Supervisory Staff proposed for this Work B. MATT HUNTER Proposed Project Manager 1. MICHAEL ENGLISH Proposed Project Superintendent 2. C. List Current Outstanding Contracts, with short description, completion dates and engineering references for each: 2023 WATER 2022 2022 DEC DEC. 2002 D. List Proposed Subcontractors and Division of Work: NONE E. Safety Equipment (Trench Boxes w/classifications, Gas Detectors, Confined Space Entry Equip, Etc.): TREWEY BOXES SALA CONFINED SPACE EQUIPMENT

F. Construction Equipment (List a	all owned equipment to be u	used on the project):
KUBUTA KX-080 EX	CLAVATOR	
CASE CX 160 Ex	CAVATOR	
VERMER 24x40 II	I DRECTIONAL I	RIU
		The state of the s
G. Minimum of three (3) project r	references for projects of sin	nilar character.
Referenced Project	Date Completed	Owner Reference w/Phone No.
1. MURRAY BUSINESS LEAP	Nov. 2022	BFW EVG.
2. CAIRO RO TANK	JUNE 2022	PADUCAH WATER
3 Smothwest ONE W		RIVEROUEST

MURTCO, INC. SAFETY & HAZARD COMMUNICATIONS PROGRAM TABLE OF CONTENTS

☐ Management's Commitment Letter	Revised December 1, 2020
☐ General Safety Policies / Procedures Substance Abuse Policy Corrective Action / Incentive Plan Safety Meeting Program New Employee Orientation Program	Revised December 1, 2020 Accident Reporting & Investigation Procedure Light Duty Policy Personal Protective Equipment Policy
☐ Safety Policy Sub-Contractor Safety Review General Safety Rules	Revised December 1, 2020 Inspection Checklist Key figures to remember (29 CFR 1926 & 1910)
☐ Hazard Communication Program	Revised December 1, 2020
☐ Blood borne Pathogens Program	Revised December 1, 2020
☐ First Aid and Health Program	Revised December 1, 2020
☐ Respiratory Program	Revised December 1, 2020
☐ Hearing Conservation Program	Revised December 1, 2020
☐ Emergency Action Plan	Revised December 1, 2020
☐ Fire Extinguisher Program	Revised December 1, 2020
☐ Electrical Safety & Lockout/Tagout Program	Revised December 1, 2020
☐ Electrical Equipment Testing Program	Revised December 1, 2020
☐ Fall Protection Program	Revised December 1, 2020
☐ Scaffolding Safety Program	Revised December 1, 2020
☐ Stairways & Ladders Safety Program	Revised December 1, 2020
☐ Confined Space Program	Revised December 1, 2020
☐ Cutting and Welding Program	Revised December 1, 2020
☐ Digging and Excavation Program	Revised December 1, 2020
☐ Hoisting and Rigging Program	Revised December 1, 2020
☐ Fleet Management Program	Revised December 1, 2020
□ Forklift Program	Revised December 1, 2020
☐ Aerial Lift Program	Revised December 1, 2020
☐ Specialty Air Contaminants Program	Revised December 1, 2020
 □ Safety Data Sheets (SDS) □ Forms (Various Inspection & Safety Forms) 	Revised December 1, 2020 Revised December 1, 2020

THE AMERICAN INSTITUTE OF ARCHITECTS

AIA Document A310 Bid Bond

KNOW ALL MEN BY THESE PRESENTS, THAT WE MUI	tco Utility Services LLC	
2900 Irvin Cobb Drive, Paducah, KY 42003		
as Principal, hereinafter called the Principal, and The Ohio	Casualty Insurance Company	
75 Berkeley Street, Boston, MA 02116		
a corporation duly organized under the laws of the State of	N	Н
as Surety, hereinafter called the Surety, are held and firmly		
	1 Main Street, Benton, KY 42025	
as Obligee, hereinafter called the Obligee, in the sum of	Five Percent of Amount Bid	
	Dollars (\$	5%),
for the payment of which sum well and truly to be made, the executors, administrators, successors and assigns, jointly a	ne said Principal and the said Su and severally, firmly by these pre	rety, bind ourselves, our heirs, sents.
WHEREAS, the Principal has submitted a bid for Hunter F	Rd. & Walnut Grove Church Roa	d Water Main Extensions-
nstallation Contract		
payment of labor and materials furnished in the prosecution	in thereof or in the event of the	Contract and for the prompt
such Contract and give such bond or bonds, if the Princi penalty hereof between the amount specified in said bid a contract with another party to perform the Work covered by to remain in full force and effect.	ipal shall pay to the Obligee the nd such larger amount for which	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith
penalty hereof between the amount specified in said bid at contract with another party to perform the Work covered by to remain in full force and effect.	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation s	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise
penalty hereof between the amount specified in said bid a contract with another party to perform the Work covered by	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation s	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith
penalty hereof between the amount specified in said bid at contract with another party to perform the Work covered by to remain in full force and effect.	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise
penalty hereof between the amount specified in said bid at contract with another party to perform the Work covered by to remain in full force and effect. Signed and sealed this 23rd day of	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation s	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise
penalty hereof between the amount specified in said bid at contract with another party to perform the Work covered by to remain in full force and effect.	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so November Murtco Utility Services LLC (Principal)	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise
penalty hereof between the amount specified in said bid as contract with another party to perform the Work covered by to remain in full force and effect. Signed and sealed this 23rd day of	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so November Murtco Utility Services LLC	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise
penalty hereof between the amount specified in said bid as contract with another party to perform the Work covered by to remain in full force and effect. Signed and sealed this 23rd day of	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so November Murtco Utility Services LLC (Principal) By: KETH Mules Se	failure of the Principal to entered difference not to exceed the the Obligee may in good faith hall be null and void, otherwise (Seal) (Seal) (Title)
penalty hereof between the amount specified in said bid as contract with another party to perform the Work covered by to remain in full force and effect. Signed and sealed this	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so November Murtco Utility Services LLC (Principal)	failure of the Principal to entered difference not to exceed the the Obligee may in good faith hall be null and void, otherwise (Seal) (Seal) (Title)
penalty hereof between the amount specified in said bid as contract with another party to perform the Work covered by to remain in full force and effect. Signed and sealed this 23rd day of	ipal shall pay to the Obligee the nd such larger amount for which y said bid, then this obligation so November Murtco Utility Services LLC (Principal) By: KETH Much Je. The Ohio Casualty Insurance	failure of the Principal to enter e difference not to exceed the the Obligee may in good faith hall be null and void, otherwise (Seal) (Seal)

SECTION 00610

NOTICE OF AWARD

To: MURTCO UTILITY SERVICES, LLC

2900 IRVIN COBB DRIVE PADUCAH, KY 42003

PROJECT DESCRIPTION: The project consists of the installation of approximately 12,350 l.f. of 6"- 2" PVC water mains to be installed by trenching and boring methods along Hunter Road and Walnut Grove Road.

The Owner has considered the BID submitted by you for the above-described WORK in response to its Advertisement for Bids dated November 23, 2022.

You are hereby notified that your BID has been accepted in the amount of Three Hundred Twenty-Four Thousand Nine Hundred Ninety-Five Dollars and Zero Cents (\$324,995.00).

You are required by the Information for Bidders to execute the Agreement and furnish the required Contractor's Performance Bond and Payment Bond within ten (10) calendar days from the date of Notice of approval to you.

If you fail to execute said Agreement and to furnish said bonds within ten (10) days from the date of said Notice, said OWNER will be entitled to consider all your rights arising out of the OWNER's acceptance of your BID as abandoned and as a forfeiture of your Bid Bond. The OWNER will be entitled to such other rights as may be granted by law.

You are required to return an acknowledged copy of this NOTICE OF AWARD to the OWNER.

Dated this day of December, 2022.

MARSHALL COUNTY FISCAL COURT

Title Suffe Exeputable

ACCEPTANCE OF NOTICE

Receipt of the above	NOTICE OF AWA	RD is hereby	acknowledged by	
MURTCO UTILITY	SELUCIES this the	6 day of	DECEMBER	2022

MURTCO UTILITY SERVICES, LLC

By:

Title_